1} The reduced form, with no negative or fractional exponents, of | s
3p 2

a) —

2) Which is the reduced form of f18x")" ?

a) 9x°y*
b) 352
) 9x'y* «HE

d) 3% 2o

8) 3x*y N 2x
3) Which factors 3x° +7x* —12x— 28 completely?

a) B3x' =N +4)

b) (3x' =D+ 4)(x—-1)
€) B +Nx— x4+
d) G3x—T)(x—2Xx+2)

e) Gx+THx—2)x+2)
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4} Which is the completely reduced form of Xty x

o |

A

a) 0
b) 1

c) !

x4

w

1
_x1+1;u
) x1+3|:}-'

d)

5) The reduced, rationalized form of ——= is

a) -3
b) 2
9 Ix—y

x—y

d) 3x—2unT +v

x—y
&) 3x—4,jx|.j+y

x—y
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6) What is the solution set for 4 + 2 = 35 ?
x=1 x+1 x -1
al] 4
b) 5
11
EJ E
E
2
E
4

d)
e)

7) What is the solution set over real numbers for 2x° +14x° —16 =07

a) 1,-8
b) 1,-2
c) +1,+2
d) +1,+8
g) 1

8) What is the solution set for 9—2 |3x— l| =57
a) x=1
b) x<—1

1
——=x=1
c) 3 x

d) xi—% or x =1

e) x=—1or I:_"l

3
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9} The points A (0,2}, B (-3,-1) and C (-4,3) form an isosceles triangle because:

a) AB=BC
b) BC=CA
c) CA=AB
d) 2C=zA
e) £C=csB

4
10) What is the solution set for x° —5x

(%)

L

+6=07

a) 3,2
b) -3,-2

q B,
d) 3,42
e) 3.f3,2.2

4473 4-1 3
1) D. —1(11 _4 ﬂ:,sim::a» (&™) =a™
3b 2 37151
1 I a
1 17 3 3
Now, since a =l and a? =~JEJ 4 d: = ?—thich reduces to 3%.
. 3157 Vb o

2) E. Jle;'}'lﬁ = JEJ- 2-x"-x- 3" . Toreduce the radical, find the highest perfect square factor of
the coefficient and highest even exponent of the variables. Pull out of the radical square root the

perfect square factor and half the even exponents.

That is, use u'x:” =x" to obtain the solution of 3x4}'5 2x.

3) E. 3x° +7x* —12x— 28, First, factor the first two terms and then the second two terms to

determine if there is a common binomial factor.

(x")(3x+ T)—4(3x+7), 3x + 7 is a factor of each of the two remaining terms.

(3x+ ?}(x: —4), which further factors to (3x+7)(x— 2Wx+2).
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1 1 x, 1, 1 x+y

)
x+y Xx x x+y x x+y . .
4] D. . = - =, thisis done to have a common denominator.
¥ ¥

1 1 x+w x x+ v —v —v

Xx x+y x xty x:+x}' x:+x}' or X +xy X

.
— or better yet =

= [+ |

¥ Y ¥

| 3

-V 1 -1 1
Invert, then multiply: L or —

=

x4+xy ¥ x°+xy x° +xp

5) E. To rationalize the fraction, multiply both numerator and denominator by the irrational
conjugate of the denominator, or ‘J_'J_C —\[}_' .

W=y -y ax-3fm-Jory  3x-dfwty
NN N x—y I

6) C. Multiply both sides by the common denominator, which is x' —1:

) - 2 5 ) )
{x‘—l}-[ 4 - :|:{ 3 :|-|[x‘—1}. Then,use x” —1= (x+1)(x—1) to obtain
x—1 x+1 x -1

; 3 I
(x+D(x—1) - 2 +—— |= 13‘ - (x+D){(x—1), which reduces after cross canceling to
x—1 x+1 x -1

1

2

(=

Hx+D+2x-1)=35 or 6x+2 =35, yielding x=
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7) B. Since the ratio of the exponents in the polynomial is 2:1, use the quadratic procedure:

2x" +14x° —16 =0 Factor as you would a quadratic, recognizing that the
 term times an x° yields an x* term.

248 -D)=0, x=-2 or x=1

8)D. 9—2Px—1 <5 Subtract9 from both sides.

-2 |3x— 1| <—} Divide by -2 (when dividing by a negative number, reverse

the inequality].
|3x— 1| > 2 This becomes two different problems.
3x—122 OR 3x—1=-21 Solve each part separately to obtain
1
xz1 XTE——
3

9) B. To show that 3 points on a coordinate graph form an isosceles triangle, it is necessary to show
that the distance between two of the points equals the distance between two other points. Use the

distance formula: D= .J(xl —x:}: +|:J,-1 _}-:J:

Distance AC = \(‘(0——4}:+[2—3] =+16+1 or J17
Distance BC = \)‘( 3——4)2 +(~1-3)" =/1+16 or /17
Distance AB = r

Since AC = BC, the triangle is isosceles.

10)E. x° —35x3+6=0, The exponents of the trinomial are in a ratio of 2:1. Use quadratic
technigues to solve,

| 4

|

Note: "r'lfhen multlplymg x? by itself, the result will be x°

-

Factor x° —‘x +6=0 to obtain (x* —3}(x- —2) =0, which yields x-

| b2

Lia

= 2. Raise each

3
to the - Power or

a

1 3

(x-:)-j=3 — x= wf?r_':arﬁnr?mﬁ OR

(RFT)

(x—éj}?=2-E - x= -u'{_c:r & or ”«Jr
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